
Paper / Subject Code:

F'. E . Cs Q'rf) -trJ
s8s0t/Apptiedl\{athematics-I. ocrle *ts III f zo15

( Rrt 0a.rnehaJl CcBsCs)

I N{arks:80]

N.B:

Q1 (a)

(b)

e2 (a)

(b)

(c)
If t:Y

(d) Express
matrix.

,* -ry show

[Time: 3 Hours]

Please check rvhether you have got the right questiott paper.

t. Question I is comPulsory.
2. Attempt any three questions from Q-2 to Q.6

Prove coshsx : cosh5x + -5 cosh3x + lOcoshx

If u: log( tanx+ tany)

Prove sin2x *. sin2Y fi: z

(3)

(3)

(3)

(3)owing matrix as

/ z 2+i
l-z+i o

\ -i 3-i

Reduce the following l\{atrix to the Nonlal
rank of the matrix

i6 1 3 B\
A_ { + z q -1 \

\i: =- l, {,)

zx
, V:-

v

the foll

l-\-

thata::"'*,) -- 4
dlx,y,z)

sum of symmeilic anC skew sy'mmetric

3\
I4il

l-i"/

(e)

(a

Shorn,that log( l+ sinx
, ,3 (4)+--

6

x2): r--,2

Ify: #Fi,dY,,

Solve the Equation xa - x3 + xz - x * 1: 0

(4)

form and hence find the

(6)

(6)

(c) lf u: I^"1" r+
xt +yL +z'

Find the value of

cos-'(ffi)
ltt irt 0u

Y-+1'- +7-'-Ax '' 0y 0z

(8)
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Q3 (a)

(c)

Q4 (a)

(b)

(c)

Qs (a)

(b)

(a) Investigate for what,alties of ]. and p the system olequations
x+2y+32: 4. x+3y +42 : 5, x+ly+ Lz :pt.

ha,e I ) unique solution. 2) Infinite solutioor. i; No solutiorr

Find the Exffer,e ,alues of f(x.y): xy* 
", 

( :+ li

Separate into real and inraginary parts of tan- ,(r,u)

(6)

(b)

Ifuz * xuz : x*y, vz + lltz _ x _y Fincl ++0x,0y

If log cos( x+ir,): a+ib Prcye 2e2o:cosh2y rcos 2x

Solve the following Equations by Gauss Seidel rnethod Upto four
iterations-

4x-2y-= 40 . x-6y+22-- -2g , x-2y+l)7: -g6

Using De Moivre's theorem prove

cosT 0 - ;( cos 70 + 7 cosS0 + 2L cos 3e +35 cos g )

Evaluate lim (-' ' \

'-'o \*l 
- cott x )

If y : sin( nz sin-1 r) prove that ( l-*r)y,r*z - (Zn * r)xy,r*1 *(m'-n2)yn-o
And hence findy3(0).

(a) Shorv the following vectors are linearry depe,derrt and find therelation betrveen them.
[2 , - 1, ,3 ,2] ,11 ,3 ,4,2] ^13 , 

_5 
,2 ,27 .

If z=f(x,y) where x : u cosh u ,y: usinh p prove

(X), - {f),:t#),-i*r
Fit the cun'e of the form y: ab* to trre following data.
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(6)

(8)

(6)

(8)

(6)

(6)

(6)

(8)

(6)

(c)

Q6 (a)

(b)

(c)

(6)

(8)

x 2 aJ 4 5 6
v 144 172.8 207 .4 248.8 298.5
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